Make it Easy Strategies: Assessment 2

Find and check the number sentence that matches the word problem.

n Max had & toy cars. He added 2 more cars.
How many cars does Max have now? ?i

P &

3+2=5  3-2=1 3+2=] g'@;/m
Sue had 9 fries. She ate 2 fries.

ﬁ\“ﬂ g How many fries are left?
- @-2=11 9-2=7 9+2=1]

B Joy has 8 books. She got T more books.
How many books does Joy have now?

8+7=1 8+7=15 8-7=1 &

Tom ran 12 miles. Pat ran 9 miles. How
many more miles did Tom run than Pat?
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ﬁ 12+5=7 12-5=17 12-5=7/
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